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AA) Mim=vd
(B) M-m=Vd

M+
© ——=vd

(D) M+m=(V+v)d
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A block of wood of volume V and mass M is
floating in a tank of water. An iron block of
volume v and mass m is placed on top of the
wooden block such that the wood alone is
fully submerged in the water, and its top
surface coincides with the water surface, as
shown in the figure. Let d be the density of
water.

following is correct ?
+m=Vd
M-m=Vd

M+m
2

(D) M+m=(V+v)d

(C) =vd

An ambulance moving on a straight road at
a speed of 20 m/s has a siren that emits a
sound signal of frequency 2400 Hz. A car
moving at a speed of 17 m/s follows behind
the ambulance. If the speed of sound in air is
340 m/s, the frequency of the signal heard

by a person in the car is:

(A) 2320 Hz
(B) 2340 Hz

AAC) 2380 Hz

(D) 2420 Hz
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3. The maximum number of subshells in an
atom with the principal quantum number
n=5is:

(A) 5
®) 10
() 20

AD) 25

(A) Polm..’

-/(B) u@
titutional Republic
% lar Democracy

A thin plano-convex lens has a focal length f.
Its radius of curvature equals f/2. Therefore,
the refractive index of the lens is equal to :

(A) 1.20

(B) 1.33
AC) 150
(D) 1.75

6. The oxidation number of Mn and Cr in
KMnO, and K,Cr,0; are, respectively,

(A) +4and +6
(B) +6and +4
(C) +5and +6

e

+6 and +6

PITQO -
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7. AnIndian born Scientist was awarded Noble
Prize in Chemistry for the year 2009 for his
work on :

(A) Insulin
(B) Mitochondria
AC) Ribosomes
(D) Hepatitis
.

o

8. The vel graph of a particle moving
al the shape of the arc OPQ of

a eas shown in the figure, P is the

t of the arc.

[
t

Velocity

P

d Time 5

The acceleration of the particle

(A) is zero at the point O.

(B) increases with time from O to P.

o

(D)

15 zero at P,

is minimum at Q.
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SO :

LA (@) (B)-(1); (c)-(iv); (d)-(i)
(B)  (a)-(ii); (b)-(ii1); (c)-(iv); (d)-{i)
(€ (a)-{iv); (b)-(1); (e)-(iid); (d)-(i1)
(D) (a)-{ii); (b)-(iv); (€)-(3); (c)-(ii)
10. SeneumeuemaudmieT erg ClweuGLmbswr
praflagg e QsmienLwg 7
(A) Bmuodar wwerur®
(B) enanGrrdlefl’ .98 erupdg (penm
A0  Awefluribd eupsaiapen
(D) &BHwerr Qumbenin Goregueud

11. arCsr@wid ursefwr D
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@
L 4

LA &LOWR aurpéens

(B) Gumigui@se
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(D) @riigga rnenamedlFib)

12. Gurrmrreﬂ@w&é@ Brdwrelld
@iy  gPhpwd  Gslwdule
Qurglassfiien ulgue updlu @
GOy eBs Spauemadd o dreng ?
(A) O wmCafluer &L cuenam
B aflwenerm umiulrean

(©) ewlapisvl MGy

(D) Gumriinf urinSlyeh
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9.  Match the following :

(a) Foehn (i)  Thar Desert- India

(b) Loo (i) Mediterranean Sea in
Italy

(¢) Chinook (i) Alps-Europe

(d) Bora (iv) Rockies-North
America

Code :

SA) (a)-(iii); (b)-{i); (€)-(iv); {d)-(ii)
(B) (a)-{id); (b)-(ii); (¢)-(g)Nel):(i

€ (a)(iv): (b)-(i); » fu)-(ii)
(D) (a)-(ii); (b)iwhialIi); (d)-(iti)
.

10. Which am hé# following is related to
Mes vilization ?
(A) of Tron
(B) oglyphic system of writing
uneiform System of Writing

The Terracotta Army

. The relationship of Rhizobium bacteria and
root nodule of Leguminous plant is ;

A
(B)
©
(D)

Symbiotic
Competition
Parasitic
Commensalism
12. Which document contains a note on the list
of export articles shipped from India to the
Roman Empire ?

(A)
v (B)
(©)
(D)

Peutingerian Table
Vienna Papyrus
Amherst Papyrus
Bodmer Papyrus

P.T.O.
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13. Semaupeuanaupenn Qurmsseythd

LOETITL_6VLD 2 My
(a) @sflibremd (i) menruiye
®) sfley fésn (i) &@UeLSET
(c) &eunswd (i) @Le
(d) @enQumbsd (iv) &mpfrsn

@lﬂlﬂ@:

(A)  (a)-(ii), (B)-(i), (c)-(iv), (d)-(iif)

(B)  (@)-ii), (b)-(iv), (0)-(). (-

(©)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
D) (a)-(iid), (b)-(iv), (€)-0), (d)-(i)

14, yCraflwb sgissmeilen Gubesiren
sglflugs Hagey Geraumbd euflenswime
aupis LB D
U 5 JHet + X;

X - leo +Y;

¥ = gAY + He! oHmibd U

SAeMESHESET X HOID Y

(A) gRa*™® whHmd o;Pa*

< (B) ™! pmb 4 ¢

(©
(D)

15. GeeumeuencibmieT o L s@m whmb Cad
HETEnULsaT Bdangg T ?
(A) ppdlihs urdiefur

L(B) wdips urany @rés Haligy

(©) s pridy Csed
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13. Match the following :

System Organ
{a) Digestion (i) Lungs
(b) Excretion (i) Ovaries
(c) Respiration (i) Intestine
(d) Reproduction (iv) Kidney
Code :
(A)  (a)-(ii), (b)-(i), (c)-(iy), (d)-(iii)
(B)  (a)-(ii), (b)-(iv), ( I&(m)
(©) » (d)-(id)

o (€)-(1), (d)-(ii)

14. The radioactwe decay of Uranium
given by the sequence

35 - SHe' + X;
X - &' +Y;
Y - ¢ 4+ He' and so on.
The nuclei X and Y are, respectively,
(A) gRa®™ and 4 Pa®!
LB wTh*! and g Pa®!
(C) mpaz:n and %anls
(D) gRa®™ and o Th¥

15. Which of the following does not have Nucleus
and Cell organelles ?
(A) Mature Bacteria

W 1B) Mature mammalian RBC
(©)
(D)

Mature Neuron
Mature Sperm cell
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16. Which of the following is not a part of
Primary Sector ?
(A) Prawn Farming
(B) Raising Live Stocks
(©)

o)

Honey Gathering

Salon

Q"

17. The tunction of vier in a neuron

isto: °
\ *
A @p propagation of action
tial
;o

C

(C) Connect the cell body with axon

w down the propagation of action
potential

(D) Release neurotransmitter

18. The IUPAC name of the following compound
CH,CH,CHBrCH,COOH is :

3-bromopentanoic acid

JA)
(B) 3-bromo-3-carboxypentane

(C) 1-carboxypentan-3-bromide

(D) 2-bromopentanoic acid

P.T.O.
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A wire with atea of cross-section A is in the
shape of a circle of radius r. The resistivity of
the wire is p. P and Q are two diametrically
opposite poirits on the wire, as shown in the
figure. The resistance between P and Q is:

P Q
R

A 5

®

(©)

2>

Whao formed the Swaraj Party in 1923 ?

(A) Bala Gangadhar Tilak

Motilal Nehru and C.R. Das

(<
(D)

Lala Lajpat Rai
Bhagat Singh and Sukdev

Thanjavur District is known for the
cultivation of :

(A)
(B)

Banana
Mango
Paddy

(D) Maize
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Which of the following countries had a
significant role in the Suez Canal crisis of
1956 ?

(A)
(B)
S0

Egyvpt and Britain
Egypt, Britain and France

Egypt, Britain, France and Israel

(D) Egypt, Britain, Fra

i

ideal gas is taken through
—H—E in the pressure-
, as shown in the figure.

One mole O
the
volu

A
E _F (b, E _F
9 : 7] =
%l # G @. H G
> >
o &EN TRy Q o Volume

Gemaumaueneummien &r

Qmﬂugﬂm$ W& WTHIF).

@euL F=G euflurseyb
G-H affhursed wrmdng.

neng 7

(A)

/)

(€) Gabupee H-E auflursab

LOTMITE

(D) Qarbuflena P uresElgiod

sy wrpng E-F-sG-H-E
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Which of the following is correct ?

(A) The temperature does not change along
E—F.

,AB) The temperature changes along F—G
and also along G—H.
(C) The temperature does not change along
H-E
(D) The temperature does not change
anywhere along the entire path
E—=F=C—oH=E,

P.T.O.
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24. Which one of the following countries does not
have a written Constitution ?

(A) South Africa
(B) United States of America
(€

40)

Myanmar

United Kingdom

25. Which one of the follgwing is not a

fundamental right acc the Indian
Constitution ?

(A) Right to

(B) Right & Equality

(C) JRi itutional Remedics

él@éht to Property

who was not a member of the Constituent
Assembly of India.

(A) K. Kamaraj

(B) Dr. S. Radhakrishnan

(C) C. Rajagopalachari
D) Mahatma Gandhi

ans éi @Amrmg the following, indicate the personality

27. Pith - the central part of the ground tissue is
generally made-up of :

A
(B)
(©)
(D)

Parenchyma

Collenchyma
Mesenchyma
Sclerenchyma

10

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

29.

CMTSE-2023-11 / A

www.Padasalai.Net

pren@ sappsar ECy Gar@ss-

UL (ReTerer.

(1)

(2)

(3)

(4)

sjwefl Genemiyser Qurgeunrs
ssLllememiysener efl eugyeur-
aenal

salSenanmiiny ol e Slenewr-
Uenu el uevelanorans

S 2igyeilen eras gren wl HGw
wHm SeoardsiulL ge|L e
udlipgy  Cardraugred FED
seUGenemtiiy 2 maurding).

Boandlp cras grensear Geud-
Qeemribe rHuBaudaama.

@eupmier sflurer sahpiaser,

(A)
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1A
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28. There are four statements given below :

(1)

)

(3)

(4)

(D)

lIonic bonds are usually stronger than
covalent bonds.

Covalent bond is weaker than a
hydrogen bond.

Coordinate covalency i
of only one atom’s
bonded ato

ehosharing_
n with other

N nding.
@ statements are

(1) and (2)

S
Vdﬂ%}m are not involved in

(1) and (3)
(2) and (3)

(2) and (4)

29. Which delta is known as ‘Granary of South
India” ?

A
(B)
©

(D)

Cauvery delta
Mahanadi delta
Godavari delta
Krishna delta

P.T.o.
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The gravitational force exerted by the earth
on a mass m, when it is at a distance h above
the earth's surface, is given by :

_ GMm
(R+h)*

where G is the gravitational constant, M is
the mass of the earth and R is its radius.
Which of the fnllow%s the correct

force-distance gmph@

Force F

(B)

[

Distance h

(©)

~ Force F

(D)

Force F

Distance h .
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31. Which of the following contributes to the

prevalence of high level of nutrition insecurity
among the children of India ?

(A) Low buffer stock of food grains

(B)
(©

D)

Low level of imports
Access to food
Poor absorption of food

32. Pick out the Co
following,

| Body in the

Parliamentary Committee

ich of the following is not included in the
calculation of GDP, using the Income
Approach ?

(A)
(B)
(€

P

Interest
Wealth Tax

34. The volume of 1.5 M phosphoric acid required
to neutralize 30.0 ml of 3.0 M sclution of
sodium hydroxide is :

(Molar mass - N,=28 g and Cl,=71 g)
(A) 50 ml
(B) 25 ml
€ 7Bml
JP) 20ml

13 P.T.O.
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aL SGwfasraild 1767 oyld oy erig.en
LeyanQagar . st ks Ghiss G-
SU(HELENaUDIIET 6T& £ ewfeny ?

(A) L bugl Gurm serés auflsear
eflflE&sliu e

2 Qwfl&smaild G 1 cig
ueLsenar $hs @GS ml-
ugparen Gswema sroalsdr
Fgo@wug Caigs.

STy, SIS0, eSTERTILES,
Fwh wpop GCallae pdlw-
anfler By @pécod afsda
g sslinl L an.

sruswrsayd whpw Qeueraflwr-
sab WLHCW sLea Hupuds
Cegigbuy sraaflsEnés
ualliymiSs LT Lg).

(B)

(D)

@m GHUEC L ogms el 2emi
erer Z opmud Hlenm erewm A G, Sal
Ggm..r'réﬁu_mas spoun Heosal, §
Heogey wHpn sror Aosey b

awpdve el ubhdps. Gn
smellehn i@ ere LohHmis

apenmGul
(A) Z-2, A—4 N
(By Z-3,A-3 $

Z-1, A—4

z-2, A@
enl_x_mg@mémgﬂsﬁ@uw E R
Brige Hmssrravaafllid Qmbs
Caugnramuin ey ey ssdundlrs
S@iauElenu aufim SHueut wrir ?
(A) erb.#. prggmw
(B) wanrgor skl

(D)

JC) & grgCaruranssrl

(D) erib. edpyrseurssml

C
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Which among the following is true about
Townshend Acts of 1767 in North America ?

(A) Imposed duties on luxury items

(B) Required colonies to pay for the cost of

keeping British troops in America

Duties imposed on, import of glass,
paper, paint, |

a; colonies repaying the debt
id and Silver

(D) i
&m atomic nucleus has atomic number

E s and mass number A. It successively

undergoes alpha decay, beta decay and
gamma decay. The final nucleus has atomic
number and mass number, respectively, given
by :

(A)
(B)

Z-2, A—4
Z-3, A-3
Z-1, A-4
(D) Z-2, A-3

Who led the Salt March from Tiruchirappalli
to Vedaranyam in Tamil Nadu during the
launch of the Civil Disobedience Movement ?

(A) M.C. Rajah
(B) Mahatma Gandhi

J(€©) C. Rajagopalachari

(D) M. Veeraraghavachari
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W @UILGS wWirmssdlen Gus er L Li-

urLs ?

(B)

Lo
(D)

39.

srhSlungser whmib gdrarnm

STHE LG ST WHMD HSUTdy FHAT-

Gurreiv
srpAug st LHNL HBCUSST

sTHE WSS WHDD WeyRITL -
GuiLen

Geneumeaneudmer erhs anriGomen

afin sreogda Anbmoda sradpg ?

(A)
(B)

)

L0

40.

Gen @;ﬁlﬂlﬁﬁl_m

HGyrEgavigmen
PN y.emendln aoriGuomes

ceuralsdlarsmensd
annrCGumesr

g o

wefl g Gaur
QaremGLm Com9é gg

& Geuaf

Qgm_mSdan

(@ Faaflan g eumdl CiLyLew
Tila ?

(A)
(B)

J©
(D)
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38. Poona Pact was arrived between :

(A) Gandhi and Jinnah

(B) Gandhi and Subash Chandra Bose

Gandhi and Ambedkar

JO

(D) Gandhi and Mmmtba

"

ones is secreted
gpregmncs?

39. Which of the folls
through the

(A) P

@teming hormone
t Follicle stimulating hormone

lD) Human chorionic gonadotrophic
hormone

one

40. Who among the following is not related to
the Dravidian reading of the Indus Script ?

(A)
(B)

)

(D)

Asko Purpola
Yuri Knorosov

S.R. Rao

Iravatham Mahadevan

P.T.O.
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41. Saaumaaaihean GuUTmHBESaD |
anniGureassn elleneneyasen

(a) evs CLrenseafl- () @Eeaggerer
ansar ppL

(b) Puradienser (i) &mayDrS

seflwursa

(¢) aFanser (iif) CGuiméigris

(d) 0H&& (iv) Méwmer_
Siblan Qs eflenerey
Gl CE

(A)  (a)iid); (b)-(v), ()-(), (d)-(i)
(B)  (@)-ii), (b)-(iv), ()-(i), (d)-{iii)

VO (@)-v), (b)-(iii), (c)-{ii), (d)-(1)

42,

Ve

43.

S (D)

CMTSE-2023-11 / A

(D) (a)-id), (b)-(3), (c)-(iv), (d)-(iii)

Qurgs eeTpr(H e Husss semsige

Qeraumeaaraupmer g Goisa )

uLefléenar ? |
Qaiciuce Ay gagdasfs
aiipuenen Wiy

2 pusd Qewi
DDLU B SET

2 pusH Qe L yflw sriser
Srriens, Mﬁ@

(B)

(©)
(D)

saneralrGrCss HesGsmpphisd
Gareuml’ erger Gewduriigen
&Tyenons o meurdlenmen ?

(A)
(B)
©

uefliurenm
&rhm
HL) DISDWVSHTT

Hleoggig i

41.

www.CBSEtips.in

Match the following :
Hormones Effects

(a) Cytokinins () Stomatal
Closure

(b) Gibberellins (ii) Parthenocarpy

(c) Auxins (i) Bolting

(d) Abscisic Acid (iv) Richmond Lang
Effect

Code :

(A)  (a)-(iii), (bIiy)HE)-(i), (d)-(id)
(B) @), (Biiv), (c)-(), ()-(is)

A0 fartwg, o)-Gii), (©)-6), (@)

®) @), (B)-(), (c)-(iv), (d)-(iii)

42,.. Which of the following is not included in the

43.

16

calculation of GDP ?

JA)  Sales value of scrap material

(B) Mangoes produced

(C) New cars produced

(D) Exports of grapes

Karst topography is formed due to the action
of :

(A) Glacier
(B) Wind
(C) Sea waves

,AD) Groundwater
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4. grCsrler s d Gaambd abHs
priran GgmfijenL wig?

(A)

(B)

v

(D)

SHQwfiss psdu priyaar
Qe

Symenen

evGuen

45. 80 B lueL. Qemavsmars CsraETL

g.eren.ar-aflar o  GfRalla 16
@Geurevanen THFRISET Lateranr. @HHL
AGflefld) ergpenan jgemanen crésmisar
o giremen ?

(A) 32

(B) 16

(C) 24

D) 64

46. denaumeuamaubmer erg weafls G-

urc® Golliga om usdur

e ?

(A) Sl sraw Q
B srieufl ssmgrrbd R

(C) erupbsley Gﬁﬂﬁlb$

(D) eumeno Hlenew

ﬂmm@mm@aﬁ.g eveu L bl e
@apur® &sriwd  Garwaa g
gHuUBL STwsSH e GipmeEsLTEn
QgmfruenLwigy ?
(A) epaul L 1flen D
JB) @al e C

(C) eyl _Liflenr E

(D) eveulLiflen A

47.

CMTSE-2023-11 / A
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44. Jacobin Party was associated with which one
of the following nations ?

(A) USA
(B) Britain

e

(D)

A segment of DNA containi base pairs
includes 16 Guanine resid m%w many

t?

France
Spain
45,

Adenine residues are i

L 2
32 *
(B) m\(b'
-
s
%ch of the following is not a part of

Human Development Index ?

(A)

(A)
B
(©)
(D)

Life Expectancy
Maternal Health
Literacy Rate
Poverty Rate

47. Which of the following vitamin deficiency is

closely connected to delay in wound
healing ?

Vitamin D

Vitamin C
Vitamin E

(A)
/)
©

(D) Vitamin A

P.T.O.
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Gereumeuaaupenn Gummssayd :
G Cpmi

L ERTLN&@0  sryeuwfl

wGaflwir (i)
(i1)
(iai)

(v)

(a) GmuwGLri
(b)
(€)

(d)

enL_umuwi(®
Qi@ e fluwir
o sl9GaMwir
@OIG :

A8) @), (b)), (©-0v), (d)-6)
(B) (a)-(iv), (b)-(i), (c)-(i), (d)-(ii)
(©)  (@)-(ii), (b)-(i), (c)-(iv), (d)-{ii)
(D) (a){ii), (b)-(iv), (€)-(3). (ct)-(ii)

aneure

49.

alyeusans eueluymisgdlemmen
(A)
J®)

(€)

BITLT(EHLOGHD

e e & senwoliy

(o

7 HlsenioL QI E

(D) & 2rs

gamdL

50. @wm&,ﬂ:gﬁ s B Serflean

Swyd' e Senpssuubdlps?
(A) prwgr

(B)
-4C) Cand
(D) gnGonrgir

Cangmeuf
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48, Match the following :

Disease Causative agent
(a) Malaria (1) Nematode
(b) Tyvphoid (if) Protozoa
(¢) Dengue (1) Bacteria
(d) Filaria (w) Virus
LA (@) %w) (d)-()

(B)  (@fiv), (bY(id), (c)~(i). (d)-(ii)
(b)‘(l) (€)=(iv), (d)~(ii)

Hu). (b)-(iv), (c)-~(i), (d)-(iii)

The 73" and 74™ Constitutional
Amendments emphasize the following form
of government.

(A) Parliamentary form of democracy
Local-self government

(C) Constitutional republic
(D) Presidential-federal

Which among the following rivers is known
as ‘Sorrow ot Bihar" ?

(A)
(B)
V1)
(D)

Narmada
Godavari
Kosi

Damodar
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51. denaumaareunampl Qunmasand -

(@) yedQLiwi- (i) eumism
it PLILBSID

(b) wrevCGanr (i) aflCsym

Bussn

(€ Sézr (iii) HCwraflls
&mGaen Qusso

(d) QuadGrl (iv) Sy

T e Henant
LEEES
©PEE :
(A)  (@)-(iv); (b)-(iii): (c)-(3); (d)-(i)
(B)  (a)-(iv); (b)-(i); (c)-(iii); (d)-(i)
SO (@)-(iid); (b)-Gi); (c)-(iv); (d)-(ii)
(D) (@)-(id): (b)-(iv); (c)-(iii); (d)-(i)

52. 340 &ymb Qauerefl m Crl serrsd
<fls serey sraflun GCerreny(en
eflavenyflybCurg Clauerefl
@Carearen,.  fpuganrssdng.
pupewwure epuganssd Bebhs-
gres smand, Gdalaanuig
e meaur@d Qeuctafls @Carmenyg
(Cuorari Henm : Ag=108 &, Qﬂ.
0,=32 &l wpmyb Cl,=71 &)

(A) 1435 dgmd S N
(B) 360 &ymb

J(C) 287 &gmbd
(D) 180 ymb

53. wefly Cobum Gs @RS H ereisn-
g Seraumeuaraunmer eThg wreul L (b
bla Gengrudlu G sdéd e dreng?

(A)  elmgipst
B eflwgni
(©) seperayi
(D) eflgpoyyod
CMTSE-2023-11 / A
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51. Match the following :
(a) The Diaspora (i) The Warsaw
Pact
(b) Moscow (i) The NAM
() Nikita (i) Zionist
Khrushchev Movement
(d) Belgrade (iv) Cuban Missile
Crisis
Code : \
(A)  (@)-(iv): (b)-(iii); ( %’(ﬂ)
(B)  (a)(iv); (b)-(i )i
O (@)-(ii); (B .; (€ 1iv): (d)-Gi
(D) (a)-{ii); (c)—(m) (d)-Gi)

52. 34.-0 g nitrate in solution precipitates
de upon reaction with a large

f calcium chloride. Assuming that
‘ ayrecap:tahcm is complete, the mass of
ver

chloride obtained is ;

(Molar mass : Ag=108 g, N,=28 g,
0,=32 g and Cl,=71 g)
(A) 1435¢
(B) 360 g
JAC) 287 g
(D) 180g

53. Which one of the following districts ranks

lowest according to Human Development
Index ?
(A) Virudhunagar
.AB) Ariyalur
(C) Thanjavur
(D) Villupuram

P.T.O.

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

54,

55.

56.

57.

Jo

www.Padasalai.Net

Gen @bl (U L suisEneT, gabriue
apenpuilér CarplsBsaiiulL smaeau
Wi ?

JA) sl eriGLrsdn

(B) qpsing) Yen gdbomen

(€) apasbwg sl

(D) wirGsuen apagryo

Genaumaseneudmier oTg sflurangde ?

(A) prafisd QafizCarmdu @L S8
usrwrhm peop Osdeurss
AupBBESS!

(B) e Gars pramuksErss ubors

srdlgl wewrld  WLTHOHULCLS,

goaafii @& @I SMTHE HVHTE

Apliurs QeudubBEng.

srdlgl uvengdhe uvders

Serangy UMD WIHDLILL LS,

goaaila & GH SaTES DHWETS

Hpuiurs QewduBEpg.

(€)

PrarHin swwrs wHSC
Gellgg evausdlanpen.

(=0
(X

g i Bfer Qaudiu
erafled, 1077 Gurdse
Siflas senrsdian pH
(A) 7
B) 6.7 N
A€ 652
(D) 7.48 &
ffien <y RGN0 £/ blebl eraficd, 12.0
Gwna@g&uﬁuﬁl_ @anGrr
@Genmfl Bevd seraadiey engnl G-
&Gearmfié sbwgdear Hon spaiso,
(g Guoréd H,=2 &lymb)
(A) 438
(B) 219
Z(© 305
(D) 60,9
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Who among the following is the
democratically elected head of the state ?

Tayyip Erdogan

(B) Mohammed Bin Salman

(C) Muammar Gaddafi

(D) Pervez Musharraf

Which of the following is not correct ?

(A) Barter system flourished where
civilization thrived.

Paper mon &:ed metal coins

(B)
because it s better as a unit of
acco
.
L 4
(€) nic money replaces paper money

se it functions better as a unit of

(D) Both electronic and paper money
function equally well as store of value.

The pH of a solution with 10~7 Moles of
sulphuric acid in one litre of water at 298 K
is nearest to :

(A) 7

(B) 6.7

6.52

(D) 7.48

Concentrated hvdrochloric acid i
approximately a 12.0 molar solution
Assuming density of water to be 1.0 g /ml
the mass percentage of hydrochloric acid ir
the solution is :

(one mole of H,=2 g)

(A) 438

(B) 21.9

JC) 305

(D) 60.9
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Glanaumeusnaupapls Aummssaylh
sraSHCwminSwr @ CGumur Cumrf
WAL C R (i) QuiGyrrI
el mird (iiiy pCarelief
QCréle (iv) Cleuerener

LIRS QUTSLD
GHIE :

SA) (@)-(i); (b)-(i); ()-(iv); (d)-(ii)

59.

(B)  (a)-(u); (b)-{iii); (c)-(iv); (d)-(1)
(€) (a)-(iv); (b)-(); (c)-(iii); (d)-(ii)
(D) (@)-(ii); (b)-(iv); (c)-(i); (d)-(iid)

P, Q. R S E F, G uopgw H eaeaug
uegdler  sricoulBetetuly @@
sFEISHM (pHNFET G0, MG
shlaflbyser smily swGwred yearaal.
apenen P-5@ 1A BlerCenmiib Sigyliu-
LuGEipg. Gogib aperer G-Gé Qmba
1A daGearrirw Guplu®dpg.
geuleurm ofeflbGgd WBearGenr-
Crgflan Sensanw sbys GHlSHaer
sl (flennen erafie,
H G
S R

E F
P Q
EH eremp aﬁlaﬂmlﬁqwmﬁ Qesogyid

WBlenGanm_L b,

(A) 54
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Match the following :

(a) Ethiopia (i) Boer war

(b) Pretoria (ii) Pedrol

(¢) Vietnam (ii) Mussolini
(d) Brazil (iv) White Terror

Code :

AA)  (@)-(i); (b)-G); (©)-v); (d)-i)
(B)  (a)-(i); (b)-ii): (c)-(iv); (d)-G)
(©)  (@){iv); (b)-(i); (c)-ii); ()t
(D) (@)-(ii); (b)-(iv); (c)e(i): (=i}

P.QRSEFEG and M are the vertices of a
cube as shown ifithe figure. The edges are
made of copmjﬁ_;g A current of 1A is sent
in at the v téx.P, and a current of 1A is
dmwn;@e vertex G. The arrows show

the,direction of the current in each edge.

E F

P Q
The current through the edge EH is :

1
(A) A

(B) —A

1
JO ZA

(D) A

P.T.O.
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60. Aemeumeenaupenrn Wummseyd : 60.
(a) wumellewm (i) eaogn
O [WIATNTE Y230
(b) oL Gani- (i) Smeymse
Qum&EsD
(©) wnellenis (i) oflenss
QumEELD SIEETHET
2. (Heurgea
(d) Sesmeurssd iv) Qum_{
el

GO :

J(A) (@), (b)-(iv), (c)-(i), (d)-()
(B)  (a)-(iii), (b)-(ii), (c)-(3). (d)~(1v)
(C)  (@)-(1), (b)-(iii), (c)-(ii), (d)-(iv)
(D) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

ate. O
§<’2
S
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Match the following :
Type of Reproduction Example
(a) Asexual reproduction (i) Hydra

(b) Vegetative
reproduction

(1) Fertilization

(¢) Sexual reproduction (iii) Spore

formation

(d) Regene@g (iv) Budding
.

Code ; \ *
A(&ﬁ}. (b)-(iv), (e)-(id), (d)-(i)
(@' (@)=, (b)-{ii), (€)=, (d)-{iv)

9
i

(C) {aHi), (b)"uh)r (C)—(ii), (d)"(lv,
(D)  (a)-(ii). (b)-(iv), (c)-(iii), (d)-(i)

-o0lo-
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